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QUESTION 1

All of the following are used by the DLP engine to match a message during a scan, EXCEPT:
A. Message Body

B. Protocol

C. Data Type

D. Destination

Correct Answer: A

QUESTION 2

Identity Agent is a lightweight endpoint agent that authenticates securely with Single Sign- On (SSO). Which of the
following is NOT a recommended use for this method?

A. When accuracy in detecting identity is crucial

B. Identity based enforcement for non-AD users (non-Windows and guest users)
C. Protecting highly sensitive servers

D. Leveraging identity for Data Center protection

Correct Answer: B

QUESTION 3

What is the behavior of ClusterXL in a High Availability environment?

A. The active member responds to the virtual address and is the only member that passes traffic.

B. The active member responds to the virtual address and, using sync network forwarding, both members pass traffic.
C. Both members respond to the virtual address but only the active member is able to pass traffic.

D. Both members respond to the virtual address and both members pass traffic.

Correct Answer: A

QUESTION 4
TheSmart EventCorrelation Unit:

A. adds events to the events database.
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B. assigns a severity level to an event.
C. forwards what is identified as an event to theSmart Eventserver.
D. displays the received events.

Correct Answer: C

QUESTION 5

Even after configuring central logging onConnecter,Connecterlogs are not displaying inSmart ViewTracker. What could
be the cause of this problem?

A. You must reestablish logging fromConnecterto the Management Server, using a dummy log-server object.

B. R70 does not support a host object with the same IP address as a Management Server used as secondary log server
or management station.

C. You must install the Management Server database.
D. You must install the Security Policy, and try again.

Correct Answer: C
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